Spezifischer Widerstand und
Leitfahigkeit
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Spezifischer elektrischer Widerstand/Leitfahigkeit
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Silber 0,016 62,5
Kupfer 0,01786 56,2
Gold 0,023 43,5
Eisen 0,25 10

Revision #2
Created 21 September 2021 11:00:41 by Martin Tienken
Updated 2 October 2021 17:29:33 by Martin Tienken


https://wiki.itienken.de/uploads/images/gallery/2021-10/image-1633195659782.png
https://wiki.itienken.de/uploads/images/gallery/2021-10/image-1633195739007.png
https://wiki.itienken.de/uploads/images/gallery/2021-10/image-1633195766945.png

